

NAME OF STUDENT: ABE OLUWATOYIN THADDEUS.

LECTURER'S NAME: MR OKUNLOLA.

DATE SUBMITTED: 07/04/2020.

DEPARTMENT: MECHATRONICS.

MATRIC NO: 191ENQ051001.

Assignment

1. If $M = pi - gj - zk$ $N = 4i + 3j - k$ $O = i - 3j + 2k$ find the value of P for which
- M & N are perpendicular to each other M & N are coplanar.
 - M & N are coplanar.

Solution

$$M = pi - gj - zk \quad N = 4i + 3j - k \quad O = i - 3j + 2k.$$

Perpendicular. $\vec{A} \cdot \vec{B} = 0$.

$$\therefore \vec{M} \cdot \vec{N} = 0$$

$$\vec{M} \cdot \vec{N} = (pi - gj - zk) \cdot (4i + 3j - k)$$

$$= 4p - 12 + 3$$

$$= 4p - 9$$

for perpendicular vectors.

$$\vec{M} \cdot \vec{N} = 0$$

$$0 = 4p - 9$$

$$0 + 9 = 4p$$

$$9 = 4p$$

$$p = \frac{9}{4}$$

$$\underline{\underline{\frac{9}{4}}}$$

Coplanar:

M, N & O are coplanar.

$$\vec{A} \cdot (\vec{B} \times \vec{C}) = 0$$

$$\vec{M} \cdot (\vec{N} \times \vec{O}) = 0$$

$$\vec{M} \cdot (\vec{N} \times \vec{O}) = \begin{vmatrix} p & -6 & -2 \\ 4 & 3 & -1 \\ 1 & -3 & 2 \end{vmatrix}$$

$$p \begin{vmatrix} 3 & -1 \\ -2 & 2 \end{vmatrix} - (-6) \begin{vmatrix} 4 & -1 \\ 1 & 2 \end{vmatrix} + (-2) \begin{vmatrix} 4 & 3 \\ 1 & -3 \end{vmatrix}$$

are perpendicular to each other find the value of p for which
 M, N & O are coplanar.

Solution

$$M = pi - 4j - 2k \quad N = 4i + 3j - k \quad O = 2i + 2k$$

Perpendicular: $\vec{A} \cdot \vec{B} = 0$

$$\therefore \vec{M} \cdot \vec{N} = 0$$

$$\begin{aligned} \vec{M} \cdot \vec{N} &= (pi - 4j - 2k) \cdot (4i + 3j - k) \\ &= 4p - 12 + 2 \\ &= 4p - 10 \end{aligned}$$

For perpendicular vectors:

$$\vec{M} \cdot \vec{N} = 0$$

$$0 = 4p - 10$$

$$0 + 10 = 4p$$

$$10 = 4p$$

$$p = \frac{10}{4}$$

$$\underline{\underline{p = \frac{5}{2}}}$$

coplanar:

M, N & O are coplanar.

$$\vec{A} \cdot (\vec{B} \times \vec{C}) = 0$$

$$\vec{M} \cdot (\vec{N} \times \vec{O}) = 0$$

$$\vec{M} \cdot (\vec{N} \times \vec{O}) = \begin{vmatrix} p & -6 & -2 \\ 4 & 3 & -1 \\ 1 & -3 & 2 \end{vmatrix}$$

$$p \begin{vmatrix} 3 & -1 \\ -3 & 2 \end{vmatrix} - (-6) \begin{vmatrix} 4 & -1 \\ 1 & 2 \end{vmatrix} + (-2) \begin{vmatrix} 4 & 3 \\ 1 & -3 \end{vmatrix}$$

$$p(6 - 3) + 6(8 - (-1)) - 2(-12 - 3)$$

$$p(3) + 6(8 + 1) - 2(-15)$$

$$3p + 6(9) + 45$$

$$3p + 54 + 45$$

$$= 3p + 99$$

$$\vec{A} \cdot (\vec{B} \times \vec{C}) = 0$$

$$0 = 3p + 99$$

$$0 - 3p = 99$$

$$\underline{\underline{-3p = 99}}$$

$$\frac{3}{3} \quad \frac{99}{3} \quad -p = 33 \quad p = 33 //$$

2. Find the direction cosines and the unit vector along the sum of $3i + 2j + 5k$, $2i - j + 6k$ and $5i + 2j - 3k$.

Solution

$3i + 2j + 5k$, $2i - j + 6k$ and $5i + 2j - 3k$

Let the sum be R

$$(3i + 2j + 5k) + (2i - j + 6k) + (5i + 2j - 3k)$$

$$(3+2+5)i + (2-1+2)j + (5+6+(-3))k$$

$$= 10i + (1+2)j + (8k)$$

$$= 10i + 3j + 8k$$

Direction cosine $R = 10i + 3j + 8k$.

$$|R| = 10i + 3j + 8k$$

$$a_x = 10 \quad a_y = 3 \quad a_z = 8$$

$$|R| = \sqrt{10^2 + 3^2 + 8^2}$$

$$|R| = \sqrt{100 + 9 + 64}$$

$$= \sqrt{173}$$

$$\cos \alpha = \frac{10}{\sqrt{173}} = 0.7602$$

$$\cos \beta = \frac{3}{\sqrt{173}} = 0.2281$$

$$\cos \gamma = \frac{8}{\sqrt{173}} = 0.6082$$

1178

3. If $f = 3ui + u^2j + (u+2)k$ and $v = 2ui - 3uj + (u-2)k$ evaluate the integral of $(f \cdot v) du$ from 0 to 1

Solution

$$f = 3ui + u^2j + (u+2)k \quad v = 2ui - 3uj + (u-2)k$$

$$f \cdot v = \begin{vmatrix} i & j & k \\ 3u & u^2 & u+2 \\ 2u & -3u & u-2 \end{vmatrix}$$

$$= i \begin{vmatrix} u^2 & u+2 \\ -3u & u-2 \end{vmatrix} - j \begin{vmatrix} 3u & u+2 \\ 2u & u-2 \end{vmatrix} + k \begin{vmatrix} 3u & u^2 \\ 2u & -3u \end{vmatrix}$$

$$= i(u^2(u-2) - (-3u(u+2))) - j(3u(u-2) - (2u(u+2))) + k(3u(-3u) - u^2(2u))$$

$$= i(u^3 - 2u^2 - (-3u^2 - 6u)) - j(3u^2 - 6u - 2u^2 + 4u) + k(-9u^2 - 2u^3)$$

$$= i(u^3 - 2u^2 + 3u^2 + 6u) - j(3u^2 - 2u^2 - 6u + 4u) + k(-9u^2 - 2u^3)$$

$$= i(u^3 + u^2 + 6u) - j(u^2 - 2u) + k(-9u^2 - 2u^3)$$

$$(u^3 + u^2 + 6u)i - (u^2 - 2u)j + (-9u^2 - 2u^3)k$$

$$(f+u)du = (u^3 + u^2 - 6u^0)i - (u^2 - 2u)j + (-9u^2 - 2u^3)k$$

$$= \left[\left[\frac{u^4}{4} + \frac{u^3}{3} - \frac{6u^2}{2} \right] i - \left[\frac{u^3}{3} - \frac{2u^2}{2} \right] j + \left[-\frac{9u^3}{3} - \frac{2u^4}{4} \right] k \right]_0^1$$

$$= \left[\left[\frac{1^4}{4} + \frac{1^3}{3} - 3(1)^2 \right] i - \left[\frac{1^3}{3} - 1^2 \right] j + \left[-3(1)^3 - \frac{1^4}{2} \right] k \right]_0^1$$

$$= \left[\left[\frac{1}{4} + \frac{1}{3} - 3(1)^2 \right] i - \left[\frac{(1)^3}{3} - 1^2 \right] j + \left[-3(1)^3 - \frac{(1)^4}{2} \right] k \right]_0^1$$

$$= \left[\left[\frac{1}{4} + \frac{1}{3} - 3 \right] i - \left[\frac{1}{3} - 1 \right] j + \left[-3 - \frac{1}{2} \right] k \right]$$

$$= \frac{-29}{12} i - \left[-\frac{2}{3} \right] j + \left[-\frac{7}{2} \right] k$$

$$= -\frac{29}{12} i + \frac{2}{3} j - \frac{7}{2} k$$